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Math 1316: Mastery Quiz 1 (Version A)

Please show all your work for computations, and write your final answers in the boxes.

1. A right triangle with angle o has the following sides: hyp for hypotenuse, opp for the opposite side, and
adj for the adjacent side. Give all six trig functions of a in terms of ratios of these side lengths.
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2. Simplify fully the following expression. Give an exact answer, and show all your work.
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3. Consider the following diagram of two right triangles sharing a side. Find the lengths z, y, and z and
the angles e, 3, and . For all answers, round to two digits past the decimal point, and give angles in
degrees,
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Math 1316: Mastery Quiz 2 (Version A)

Please show all your work for computations, and write your final answers in the boxes.

1. How many radians are in a half circle? How many degrees are in a half circle?
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2. Explain in your own words what it means for two angles to be coterminal. If you are given degree
measures for two angles, how do you check whether they are coterminal?
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3. Consider the two angles o = 40° and 3 = /5. Convert a to radians, and then determine which angle
is larger.
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4, Consider the angles @ = —100° and 8 = Tn /5. Determine what quadrant each is in in and find its
reference angle. Give all answers in exact form, with the same units as you started with.
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